#### COUNTY OF EL DORADO ENVIRONMENTAL MANAGEMENT DEPARTMENT Contract Change Order

Sheet 1 of

31

Change Requested by: County Contractor SUKUt

CCO No.	Suppl. No.	Contract No.	Contract Name	Federal Number(s)
010		013-PW-09/10- BOS	Construction of a Cap System, French Drain, and Passive Landfill Gas Emission System Operable Unit – 1 Meyers Landfill	n/a

#### **70** Sukut Construction, Inc.

Contractor

You are directed to make the following changes from the plans and specifications or do the following described work not included in the plans and specifications for this contract.

NOTE: This change order must be approved by the Board of Supervisors. [X]Yes [] No Public Works Contract awarded on January 26, 2010 Description of work to be done, estimate of quantities and prices to be paid. (Segregate between additional work at contract price, agreed price and force account.) Unless otherwise stated, rates for rental of equipment cover only such time as equipment is actually used and no allowance will be made for idle time. The last percentage shown is the net accumulated increase or decrease from the original quantity in the County's Estimate.

This change order is for backfill work that was completed around the sewer line. Excavation was required below grade over and around the sewer line due to a number of issues, errors and omissions with the Final 100% Remedial Design, provided to the County by the Forest Service. There was no bid item for backfill work in this area; therefore, the work was required to be completed on a time and materials basis. The contractor waives any claims for additional time or payment for the matters related to this Change Order to date.

This Change Order is for an amount not to exceed \$59,867.08

### Reference: Sukut Extra Work # 12 Dated 11/05/2010

Estimated Cost: \$59,867.08

Decrease Increase X

Approved:		
Signature	(Print name & title)	Date
	Kerri Williams, Fiscal Administration Manager	
Approved:		·
Signature	(Print name & title)	Date
-	Greg Stanton, Deputy Director	
Approved:		
Signature	(Print name & title) Gerri Silva, M.S., REHS Director	Date

We the undersigned contractor, have given careful consideration to the change proposed and agree, if this proposal is approved, that we will provide all equipment, furnish the materials, except as may otherwise be noted above, and perform all services necessary for the work above specified, and will accept as full payment therefor the prices shown above. NOTE: If you, the contractor, do not sign acceptance of this order, your attention is directed to the requirements of the specification as to proceeding with the ordered work and filing a written protest within the time therein specified.

Contractor Acceptance by		
Signature	(Print name & title)	Date
0		



November 5, 2010

El Dorado County Placerville Office 2850 Fairlane Ct. Building 'C' Placerville, Ca 95667

Re: Extra Work # 12

Subject: Sewer Line Area Backfill

Dear Greg,

This is a change order request for the <u>backfill</u> for the work area which we were directed to excavate below grade over and around the sewer line that was not a part of the original EERG 100% design plans as received at bid time. Under the current contract there is no bid item for backfill for this work area and was directed to complete this work on time and materials basis to date.

Total

= \$59,867.08

Thanks for your time in this matter

Todd Gunnell Project Manager

Moving Earth to Award-Winning Levels



#### SUMMARY OF EXTRA WORK

WORK PERFORMED FOR:

**DESCRIPTION OF WORK:** 

County Of El Dorado

TICKET	DESCRIPTION - Labor or Equipment	TOTAL
51605	See above - Labor	\$ 2,683.08
51606	See above - Equipment	\$ 2,608.41
51913	See above - Labor	\$ 725.96
51913	See above - Equipment	\$ 1,005.32
51914	See above - Labor	\$ 2,640.64
51914	See above - Equipment	\$ 6,510.32
51915	See above - Labor	\$ + 2,422.49
51915	See above - Equipment	\$ 4,927.01
51918	See above - Labor	\$ 2,782.46
51818	See above - Equipment	\$ 4,868.68
51921	See above - Labor	\$ 1,100.08
51921	See above - Equipment	\$ 559.02
51930	See above - Labor	\$ 5,636.13
51930	See above - Equipment	\$ 11,097.86
51934	See above - Labor	\$ 930.92
51934	See above - Equipment	\$ 559.02
51945	See above - Labor	\$ 2,644.48
51945	See above - Equipment	\$ 6,165.20
TOTAL		\$ 59,867.08

ana (1997) Ang ang ang ang ang ang ang ang ang ang a	MATERIALS & OTHER ITEMS	Unit Cost
يە بالەركى كەردە بەرم ب	(1) Control of Marcanov and Control Marca Party Control (1) And the Annual Software And Software (1) Control (1	
	n an	



cket #: 51605

Work Performed For:

El Dorado County

Cost Code: 880105 Date: 10/01/10

Description of Work:

Labor Type	LABOR	HOURS Total OT	RATE Reg. OT	EXTENDED AMOUNTS
FM	Ed Wilkerson	4 <		\$ 338.32
		1/	\$ 32.00	\$ 32.00
GC	Kevin Wickiser	4 /		\$ 337.36
<u> </u>				\$ 32.00
В	Vanessa Echeverria	3 ⁄		\$ 177,99
В	Madente			\$ -
LD	Mark Blanchard	3 /	\$ 59.33	\$ 177.99
OP	Dana Carr			\$ -
JP	Dana Carr	3 ⁄		\$ 236.85
ÔP	Jerry Wilson			\$ -
JF .	Jerry Wilson	3 /		\$ 249.78
- PC	Mark Grech	·	\$ 32.00	<u>s</u> -
<b>.</b>	Mark Stech		\$ 81.04	<b>\$</b>
\OP	Dale Shankles		\$ 32.00	\$
101	Dale Offankies	3 2	\$ 63.56 \$ 32.00	\$ 190.68
Feamster	Tom Azevedo	3 ✓		\$ * 100.75
oumoun	TOTINALOYOUD	- ° '	\$ 60.25 \$ 32.00	\$ 180.75
Mechanic	Tony Green			\$
				<u>\$</u> .5 -
)P	Ray Ortiz	3 7	\$ 81.04	<del>م</del> \$ 243.12
			and the second	<u>\$</u>
)P	Rich McClellan	3 /		\$ 243.12
				\$ <u>-</u>
)P	James Johnson	31		\$ 243.12
· · ·			\$ 32.00	<u> </u>
UOM	MATERIALS & OTHER ITEMS	Qty	Unit Cost	Total
				<u> </u>
				\$
				\$ -
			1	\$ -
				\$
	n an	1.22 · ·································	an a	\$ -
NOTES:		TOTAL TH	IS REPORT	\$ 2,683.08
·				
		<b>I</b> '		

SUKUT CONSTRUCTION, INC. GENERAL ENGINEERING CONTRACTORS 4010 Chandler Ave., Santa Ana, CA 92704 (714) 540-5351

### AILY RECORD OF EXTRA WORK

Work performed for County of El Dorado 151014 Job No. Description of work Back full to stabillize the scurer FWO No. 8801-05 10/1/10 live on the worth end. Date \_ 1 1. Report No: of

EQUIP. NO.		a manarang at ang an ang ang ang ang ang ang ang ang	HOURS	RATE REG	EXTENDE	D
LABOR-TYPE	LABOR OR EQUIPMENT (Note all access	ories)	O.T.	0.T. *	AMOUNT	
			4		an an an tha star an tha star Tha an tha star an tha star an tha	
Foreman	Ed Wilkerson					
delle si della			4			
Grd V	Kevin Wickiser					
			3		n a na an ann an an an an an an an an an	
<u></u>	Dava Carr					
			3			
OA	Jerry Wilson					4
			3			4
<u> </u>	Rich McCleilen					
			3			
<i>C</i> p	Ray Octiz		3			<u>- 1</u>
					· · · · · · · · · · · · · · · · · · ·	<u> </u>
~ Op	Tame Johnson			3	is in a star of the	-
	K I of it.		3			-
<u> </u>	Dale Shaw Kles					
			3			
<u> </u>	Tom A				1	
and a second	na National de la constante de la		3	30		<u></u>
labor	Mark Blancheid		3			- <u> </u> -
	եր հետությունները համանակությունները։ Հայաստանությունները համանակությունները համանակությունները։ Հայաստանությունները համանակությունները համանակությունները։		<u> </u>			
Labor	Vanessa Echeveria	international and a second sec	water of the second second			
			· · · · · · · · · · · · · · · · · · ·			<u></u>
						1
				n an thair an an thair an an thair an t		4
		• • • • • • • • • • • • • • • • • • •	SUB TOT	<u>AL</u>		<u>ال</u>
	MATERIALS & OTHER ITEMS		NO.			- 11
an an the second se	WATENIALS & OTHER THEWS		UNITS	<u> </u>		
Haulod 3	36 Loads in [ cock Trucks @ 18 yds =	648 Vds		light of the start		
	a na sana ang ang ang ang ang ang ang ang ang	and a second	1			
		<u>a de la constancia de la constanc</u> A de la constancia de la c	<u> </u>			
	n an	ر مىشەرمىمە بىلىرىكى ئىكى تەركى تەركى		1		
n an 1,5 that are a straight.						*.p
				16 A		
Comment:	(Mary Haves)	Total this repo	<b>T</b> :	Allow the second	an a Antonio an <u>a ana a</u> na an	
Rohm	of By STRUD to stabilize	Total previous	report			
		Total to date		<u></u>		
	had S	ن آن بنده به به بین شید به بین				
he above rec	ord is complete and correct.	Work complete	d and acce	pted for pay	ment.	
	1997年,1997年,1997年,1997年,1997年,1997年,1997年,1997年,1997年,1997年,1997年,1997年,1997年,1997年,1997年,1997年,1997年,1997年,199 1997年—1997年—1997年—1997年—1997年—1997年—1997年—1997年—1997年—1997年—1997年—1997年—1997年—1997年—1997年—1997年—1997年—1997年—199	na	11-		a state a second	
·		OHAD	HE-	-		
By	FOR CONTRACTOR	CLIENT	OR AUTHORIZE	D REPRESENT	TIVE	· ·
		CLIENI		w. <u>ner</u> ococnIX	111YE 	
CUSTOMER_WH			1107	10-1294		

GOLDENHOL

51605



51606

Work Performed For:

[ No.

El Dorado County

Cost Code: 880101 Date: 10/01/10

Description of Work:

EQUIPMENT	Material & Equipment	HOURS Total OT		RATE Reg. OT	F .	XTENDED MOUNTS
CAT	345B Excavator w/ Thumb Attachment	3 7	\$	182.69	\$	548.07
			\$	1,029.25	\$	
VOLVO	A40 Rock Truck	3 /	\$	146.15	\$	438.45
0.47			\$	839.50	\$	
CAT	740 Rock Truck	37	\$	159,63	\$	478,89
0AT			\$	839.50	\$	
CAT	740 Rock Truck		\$	162.14	\$	
CAT	007 - 0		\$	839.50	\$	
CAL	637 E Scraper	· · · · · · · · · · · · · · · · · · ·	\$	381.93	<u>_</u> \$.	
CAT	637 E Scraper		\$	381.93	\$	teren et l'ans tradit. Altra
CAT	825 G Compacter	- <u> </u>	\$	188.67	\$	n ha for a start of the start of the
	n an		\$	839.50	° <b>\$</b>	
CAT	D8 R Dozer	3 /	\$	191.00	\$	573.00
CAT	310 G Back Hoe		\$	86.05	\$	
<u>.</u>	4000 Gallon Water Truck		\$	60.33	\$	
CAT	14G Blade	3 7	\$	190.00	\$	570.00
Tremble	GPS Base & Rover	2	\$	53.24	<b> \$</b>	
					1999 - 1999 - 1999 - 1999 - 1999 - 1999 - 1999	
UOM	MATERIALS & OTHER ITEMS	Qty		Jnit Cost	a i	Total
	na na sene na sene na sene da sene da La sene da sene	, r. Conservation			\$	•
					\$	
		· ·			\$	
					\$	-
		<u> </u>			\$	-
A state market					\$	-
		<u> </u>	<b> </b>			
NOTES:		TOTAL TH	IIS F	REPORT	\$	2,608.41
		-	÷.,			
		1				

SUKUT CONSTRUCTION, INC.	
GENERAL ENGINEERING CONTRACTORS	
4010 Chandler Ave., Santa Ana, CA 9270	4
(714) 540-5351	

# **AILY RECORD OF EXTRA WORK**

	overty of Il Dorado	o sener	FWO No.	BAD	1-05	
	He North end.		Date	10/11	al an	
			Report No		of	z
EQUIP. NO.			HOURS	RATE /	EXTEN	
ABOR-TYPE	LABOR OR EQUIPMENT (Note all a	ccessories)	0.T. 3	<u>0.T</u>	AMOU	INT
-BO-R / DBR	and a second	· · · · · · · · · · · · · · · · · · ·		andra da ser de la compañía de la co		
Eco 345	an a		3			<u></u>
47	Excasoloc		3			;
Ecco Rock	Truck			·····		
Ecco Rmy	Truck		3			· · ·
			3	<u></u>	<u> </u>	
Ecco 140H	Black					
				· · · · · · · · · · · · · · · · · · ·	- <u>A<sup>11</sup> · · · A</u>	
<u>200 sec. Al construction de la const Al construction de la construction d</u>	n <u>An anna an an Anna a</u>	and an entry of the second		<u>i gergeligen i</u> Stationer		<del>بنيب</del>
	and a state of the s					
)						÷
				<u> </u>		
	· ·					
		18				
	and fact of the second seco			an a bara <u>a</u> Cignae in a an		+
1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1						
		and the second	4			
			<u></u>	<u></u>	<u></u> *	÷
9 9		o 0	SUB TOTA	L	· .	
		<u>an de anti-construction de la construction de la construction de la construction de la construction de la cons</u> La construction de la construction de				<u>,</u>
	MATERIALS & OTHER ITEMS		NO. UNITS	UNIT COST		3
					1999 - 2000 - 2000 - 2000 1997 - 2000 - 2000 - 2000 1997 - 2000 - 2000 - 2000 - 2000 - 2000 - 2000 - 2000 - 2000 - 2000 - 2000 - 2000 - 2000 - 2000 - 2000 - 2000 -	i
	a versionen en			<u>er sa nor de l'Alinety</u> Si a la contrada	() mar strong Blitter () Strong ()	
		and the second secon		<u>.</u>		, . ,, .
an a		a a construction of the second se Second second second Second second		<u> </u>	i i serie i i come de porte	
			aga a tanan karana			<u></u>
Comment: (Equipme	of Hours)	Total this rep	ort	1. 1.		- 
<i>v.</i> 1		Total previou	is report	-		
	in an history and a second	Total to date	<del>na subhaiteacha</del> 1 Ionraite	i al	• • • • • • • • • • • • • • • • • • •	
he above record is com	aloto and approat	Work comple		tod for no	<u>-linit entra</u> Vendet	1

By CLIENT OF AUTHORIZED REPRESENTATIVE

CUSTOMER-WHITE OFFICE COPY-CANARY

FOR CONTRACTOR

By

JOB FILE-PINK

10-1220097-GOLDENROD

51606



El Dorado County

Ticket #: Cost Code: 880105 Date: 10/20/10

51913

Work Performed For: Description of Work:

Labor Type	LABOR	HOUR Total OT		RATE Reg. OT		
FM	Ed Wilkerson	2 -	\$	84.58	\$	169.16
GC		nation in the second second second	\$	32.00	\$	
GC	Kevin Wickiser	1	\$	84,34	\$	n <del>provinsionen a</del> sses (Sa <mark>n</mark> a) (San
L <b>B</b>	Vanessa Echeverria		\$	32.00	\$	
	vanessa Echeverna		\$	59.33	\$	
B	Mark Blanchard		\$	32.00	\$	
	wark Dianciaru	· · · · · ·	<b>\$</b>	59.33	\$	
<u> OP</u>	Dana Carr		\$	32.00	\$	-
		4 /	<u></u> \$	78.95	\$	315.80
OP	Jerry Wilson		\$	32.00	\$	-
Totalia Aliana ang tanàna minina		· · · <b> </b>	\$	83.26		
5P	Mark Grech	<u> </u>	\$	32.00	<b>, \$</b> 6	
		· · · ·	\$	81.04	\$	
AOP	Dale Shankles	an a	\$	32.00 63.56	\$ \$	
ر در د رو دفع م میرد. ا			<u>्व</u> \$	32.00	_> \$	
Feamster	Tom Azevedo	4	1	60.25		241.00
and the second			\$	32.00	_₽ €	2-11,00
Mechanic	Tony Green		\$	82.25	\$	and and a second filler of the second se Second second s
		· · · · · · · · · · · · · · · · · · ·	\$	32.00	5	
ЭP	Ray Ortiz		\$	81.04	\$	
en generalen en der soner en der		· · · ·	\$	32.00	5	••
OP 1	Rich McClellan	0	\$	81.04	\$	_
			\$	32.00	°\$	_
)P	James Johnson		\$	81.04	\$	- <sup>1</sup> . , <del>1</del> .
			\$	32.00	\$	·
MOU	MATERIALS & OTHER ITEMS	Qty		Unit Cost		Total
		میں اور ایک ایک میں جارہ کی ایک میں ایک بیری ایر ایک میں ایک میں ایک ایک		and the second	\$	
					<b>\$</b> #	-
					\$	-
					\$	
	t. V se	· · · · · · · · · · · · · · · · · · ·			<b>\$</b> 1	-
n e sa s		n an		11	\$	
	<mark>en en e</mark>		_			·
NOTES:	<u>n de la companya de</u> En la companya de la c	TOTAL	- 1170	PEDODT	\$	725.96



Cost Code: 880101 Date: 10/20/10

51913

Work Performed For:

( )

El Dorado County

Description of Work:

EQUIPMENT		HOURS Total OT	RATE Reg. OT	EXTENDED AMOUNTS
CAT	345B Excavator w/ Thumb Attachment	and Robert Street	\$ 182.69	\$
	and a second		\$ 1,029.25	\$ -
VOLVO	A40 Rock Truck		\$ 146,15	<b>\$</b>
			\$ <u>839</u> ;50'	<b>. \$</b> .
CAT	740 Rock Truck		\$ 159.63	\$
			\$ 839.50	\$
CAT	740 Rock Truck		<b>\$</b> 162.14	\$
0.4 T 1.1		1	\$ 839,50	\$
CAT	637 E Scraper		\$ 381.93	<b>\$</b> .
CAT	637 E Scraper		\$ 381.93	
CAT	825 G Compacter	na 1997 - State State († 1997) 2014 - State State († 1997)	\$ 188.67	<b>\$</b>
n an	and the second		\$ 839,50	<b>*</b>
CAT	D8 R Dozer	. 4	\$ 191.00	\$ 764.00
CAT	310 G Back Hoe		\$ 86,05	
	4000 Gallon Water Truck	4 /	\$ 60.33	\$ 241.32
CAT	14G Blade		\$ 190.00	<b>.</b>
a de la companya de l				
Fremible	GPS Base & Rover		\$ 53.24	\$
UOM	MATERIALS & OTHER ITEMS	Qty	Unit Cost	Total
	<mark>an se an anna an an an anna an anna an anna an an</mark>			<del>\$</del>
			·····	<u> </u>
				<u>-</u>
				<u> </u>
				- -
NOTES:		TOTAL TH	IS REPORT	\$ 1,005.32
			الالاستان فللفت	
· · · · · · · · · · · · · · · · · · ·				

SUKUT CONSTRUCTION, INC. GENERAL ENGINEERING CONTRACTORS 4010 Chandler Ave., Santa Ana, CA 92704 (714) 540-5351

in the second second

51913

### **AILY RECORD OF EXTRA WORK**

Additional and a second second

Work performed for Cousily of El Darado	Job No.	151014
Description of work <u>Placement of material over the</u>	FWO No	8801-05
Scorer line from marshale 48 to the south.	Date	10/20/10
	Report No	I of I

EQUIP. NO.			HOURS	RATE	
LABOR-TYPE	LABOR OR EQUIPMENT (Note all acce	ecorloc)	TOTAL	REG	AMOUNTS
		somes)	от. Z	о.т.	ANICONTS
	1 million and the second secon			<u></u>	
Forman	Ed Wilkmon		<u> </u>		
and a second			4		
<i>O</i> p	Dava Carc				
			4		
$\alpha$	Tom A.			<u>andre i e reste e</u>	
			4		
80-13	/ DØR				n en Les angeles and the second
			4		
Tom's Hio	4000 gallow water truck	<u>e in an an le standt p</u> rise. It			
phe strain and strain					
		an an an an an Anna an Anna an Anna an			
$\mathbf{N}$		and the second			
		and and a second se			
				al and a second s	1
					-
1 4 1 4 2 7 4			2		
<u></u>		<u>an an a</u>			2
				A second second	a and a second
	la se anna an a			terre in the second	
				and in these	
		* * * *		n se in si ferri Si si si si si	
• •	<b>9</b>	. 19	SUB TOT	A.I.	
		· · · · · · · · · · · · · · · · · · ·	000.01		and the second s
1					
	MATERIALS & OTHER ITEMS		NO. UNITS		
	MATERIALD & OTTLATICHIO		UNITS		
e de la companya de l	an a				
an the second					
	a and a state of the second	n tea ann an teann a Teann an teann an tean			<u>, , , , , , , , , , , , , , , , , , , </u>
		<ol> <li>A. S. S.</li></ol>			
				1	i statistica de la companya de la co
	na an a			<u> </u>	1
Comment:		Total this repo	rt		
	<u>i in an ann an tart an tart an </u>	A CARLER AND A CONTRACT		<u>let in Maria de Constant</u> References	9 Proceeding of the last sector of the last sect
Can and an in second		Total previous	report		
		Total to date			1
Y	ord is complete and correct.	Work complete		يستقرب فتخت فيجيشه	

CLIENT OR AUTHORIZED REPRESENTATIVE JOB FILE-PINK

By.

10-1292 BPN GOLDENROD

CUSTOMER---WHITE

By

OFFICE COPY-CANARY

FOR CONTRACTOR



51914

Work Performed For:

El Dorado County

Cost Code: 880105 Date: 10/21/10

Description of Work:

FM       Ed Wilkerson       2.         GC       Kevin Wickiser       2.         LB       Vanessa Echeverria	\$	32.00 84:34 32.00	\$	169.16
LB       Vanessa Echeverria         LB       Mark Blanchard         OP       Dana Carr         OP       Jerry Wilson         QP       Mark Grech         AOP       Dale Shankles         Teamster       Tom Azevedo         OP       Ray Ortiz         OP       Rich McClellan         Y       4	<b>\$</b> <b>\$</b> <b>\$</b> <b>\$</b>	84.34 32.00		
LB       Vanessa Echeverria         LB       Mark Blanchard         OP       Dana Carr         OP       Jerry Wilson         QP       Mark Grech         AOP       Dale Shankles         Teamster       Tom Azevedo         OP       Ray Ortiz         OP       Rich McClellan         Yer       4         OP       James Johnson	\$ \$ \$	32.00		•
LB       Mark Blanchard         OP       Dana Carr         OP       Jerry Wilson         OP       Jerry Wilson         OP       Mark Grech         AOP       Dale Shankles         Feamster       Tom Azevedo         OP       Ray Ortiz         OP       Rich McClellan         OP       James Johnson	\$		\$	168.68
B       Mark Blanchard         DP       Dana Carr         OP       Jerry Wilson         OP       Jerry Wilson         OP       Mark Grech         AOP       Dale Shankles         Feamster       Tom Azevedo         OP       Ray Ortiz         OP       Rich McClellan         OP       James Johnson	\$		\$	
DP     Dana Carr     6       DP     Jerry Wilson     4       DP     Mark Grech     4       AOP     Dale Shankles     6       Feamster     Tom Azevedo     6       Mechanic     Tony Green     6       DP     Ray Ortiz     6       DP     Rich McClellan     *4       DP     James Johnson     4		59,33	\$	
DP       Dana Carr       6         DP       Jerry Wilson       4         DP       Mark Grech       4         AOP       Dale Shankles       6         Feamster       Tom Azevedo       6         Mechanic       Tony Green       6         DP       Ray Ortiz       6         DP       Rich McClellan       *4         DP       James Johnson       4	15	32.00	\$	-
DP     Jerry Wilson     4       DP     Mark Grech     4       AOP     Dale Shankles     6       Feamster     Tom Azevedo     6       Mechanic     Tony Green     6       DP     Ray Ortiz     6       DP     Rich McClellan     *4       DP     James Johnson     4.4		59.33	\$	-
OP     Jerry Wilson     4       OP     Mark Grech     4       AOP     Dale Shankles     6       Feamster     Tom Azevedo     6       Mechanic     Tony Green     6       OP     Ray Ortiz     6       OP     Rich McClellan     *4       OP     James Johnson     4.4	\$	32.00	<b>\$</b> 1	
DP       Mark Grech         AOP       Dale Shankles         Feamster       Tom Azevedo         Genanic       Tony Green         DP       Ray Ortiz         OP       Rich McClellan         DP       James Johnson         4	/ \$	78.95	\$	473.70
OP       Mark Grech         AOP       Dale Shankles         Feamster       Tom Azevedo         Mechanic       Tony Green         OP       Ray Ortiz         OP       Rich McClellan         OP       James Johnson	\$	32.00	\$	
AOP       Dale Shankles         Feamster       Tom Azevedo         Mechanic       Tony Green         OP       Ray Ortiz         OP       Rich McClellan         OP       James Johnson         4	<u></u>	83.26	\$	333.04
AOP       Dale Shankles         Feamster       Tom Azevedo         Mechanic       Tony Green         OP       Ray Ortiz         OP       Rich McClellan         OP       James Johnson         4	\$	32.00	\$	
Teamster       Tom Azevedo       6         Mechanic       Tony Green       6         DP       Ray Ortiz       6         DP       Rich McClellan       °4         DP       James Johnson       4	<b>\$</b>	81.04	\$	
Teamster       Tom Azevedo       6         Mechanic       Tony Green       6         DP       Ray Ortiz       6         DP       Rich McClellan       °4         DP       James Johnson       4	\$	32.00	\$	-
Mechanic       Tony Green         DP       Ray Ortiz         OP       Rich McClellan         OP       James Johnson         4	\$	63.56	\$	n new <u>de</u> series 1997 - En el Series
Mechanic       Tony Green         DP       Ray Ortiz         OP       Rich McClellan         OP       James Johnson         4	\$	32.00	\$	nte en standige en s <mark>a</mark> nte Sente et en sente de sente
DP   Ray Ortiz   6     DP   Rich McClellan   °4     DP   James Johnson   4		60.25 <sup>0</sup>	\$	361.50
DP   Ray Ortiz   6     DP   Rich McClellan   °4     DP   James Johnson   4	\$	32.00	\$	<b>.</b>
OP   Rich McClellan   °4     OP   James Johnson   4.2	<u>\$</u>	82,25	\$	
OP   Rich McClellan   °4     OP   James Johnson   4.2	\$	32.00	\$	
DP James Johnson 4		81.04	\$	486.24
DP James Johnson 4	\$	32.00	\$	
	<b>7</b>	81.04	\$	324.16
	\$	32.00	\$,	
UOM MATERIALS & OTHER ITEMS Qty	\$	81.04	\$	324.16
	\$	32.00	\$	<u></u>
		Unit Cost		Total
	4		\$	
			\$	
			\$	
			\$	
- 2012년 1월 19일 - 1월 18일 - 1월 1			<del>\$</del> \$	
n an			₽.	
	····		·	<u></u>
NOTES:	THIC	REPORT	° <b>\$</b> ° -	2,640.64
IOTAL:	n (19 <b>79</b> 2)	NETVILI	2	2,040.04



Ticket #: 51914

Work Performed For;

El Dorado County

Cost Code: 880101 Date: 10/21/10

Description of Work:

EQUIPMENT		HOURS Total OT		RÁTE Reg, OT		EXTENDED
CAT	345B Excavator w/ Thumb Attachment		• <b>\$</b>	182.69	\$	and the second secon
VOLVO	A40 Rock Truck		\$	1,029.25	\$	- You the second se
VOLVO	A40 ROCK I FUCK	· · ·	\$	146.15	\$	and the second
CAT	740 Rock Truck	.d.	\$	839.50	<b>_\$</b> (`	4
-9 <u>0</u> 1	740 ROCK TRUCK		\$	159.63	\$	
CAT	740 Rock Truck		\$	839,50	<b>\$</b> .,	
201	740 ROCK THUCK		<u>\$</u>	162,14		
САТ	637 E Scraper	a	\$	839.50	\$	
	os/ E Scraper	10 ✓	\$	381.93	\$	3,819.30
CAT	637 E Scraper		\$	381.93	<b>\$</b> 0	•
CAT	825 G Compacter		5.45 5.45	188.67		
and and a second second		· · · · · · · · · · · · · · · · · · ·	\$ \$	839.50	\$	
CAT	D8 R Dozer	6 🗸	₽ 5	191.00	\$ \$	1 1/10 00
a an ann an Anna an An			<u>.</u>	191200	<b>Þ</b>	1,146.00
CAT	310 G Back Hoe		\$,	86.05	\$ <u></u>	n <u>a e de</u> lla coma Nordella della della Nordella della d
	4000 Gallon Water Truck	6 /	\$	60.33	\$	361.98
CAT	14G Blade	4 1	\$	190.00	\$	760.00
lertz	54" Sheeps foot compactor	8 /		F2 00		400.04
· · · · · · · · · · · · · · · · · · ·		0	\$	52.88	<b>\$</b> `	423.04
UOM	MATERIALS & OTHER ITEMS	Qty	U	nit Cost		Total
	ne service and a service service of the service of the service of the service service of the ser				<b>\$</b> ,	-
·····					\$	and a second second Second second
					\$	
					\$	-
					្រ <b>\$</b> ្	-
К	en e			·····	\$	
	<u>na produce da esta da da esta de la composición de la composición de la composición de la composición de la compo</u> En esta de la composición de la composic					
NOTES:		TOTAL	TC P	EDODT		
NOTES:		TOTAL TH	IS R	EPORT	\$	6,510.32

SUKUT CONSTRUCTION, INC. GENERAL ENGINEERING CONTRACTORS 4010 Chandler Ave., Santa Ana, CA 92704 (714) 540-5351

÷

÷ .

**AILY RECORD OF EXTRA WORK** 

			A	المشر الم	Α
Work	nerformed	for a	County	A 71	Vinca dia
	pono				

the server line.

oucr-

Placement and Compaction of material Description of work\_

Job No. 🗌 8801-05 FWO No. \_ 10/21/10 Date \_\_\_\_

15/014

51914

of.

Report No. l

		HOURS	RATE		
EQUIP. NO.		TOTAL	REG	EXTENDED	
LABUH-ITPE	LABOR OR EQUIPMENT (Note all accessories)	0,T. Z	о.т.	AMOUNTS	د ۱۹۳۲
Foreman	Ed Wilkerson				<u> </u>
<u>100 em anj</u>	-ca $wike or$	Z /			
Gord V	Kevin Wiekser			and a second	
		6			
<u>op</u>	Danie Cale				<u></u>
		4			<u> </u>
<u> </u>	Jriny Wilson				
Øð.	Rich McClellan	7			
~~r		6		1. fa	
00-	Ray Ortiz				
l V		4			<u></u>
	Jama Johnson			n an	li.
	Tom A.	6			+
- op	1011 A.	6			<del> </del>
80-13	<sup>✓</sup> N <i>B</i> R				<u> </u>
37-041	(3) 637's	10		And Anna Anna Anna Anna Anna Anna Anna A	
37-07 37-10	<u>(3) 637 s</u>		1		
		4			
Ecco ,	140H Blade	B			<u> </u>
Flertz	54" sheps foot Compactor			· · · · · · · · · · · · · · · · · · ·	
<u> </u>	ST ST TOU OT HAUER	6			
Tomis H2 0	4000 gallow water Truck	SUB TOT	Δi		
TOWES FIZ O	TUD Gallon White I TUCK				
		NO.	UNIT		
	MATERIALS & OTHER ITEMS	UNITS	COST		
S Hauled 1	3 Load of material over the sewer line @ 14 y	1K =			
					-
<u>1008 yas</u>	· Cpar load count)				÷
	the second s				_
	and a second				
Comment:	Total thi	s report			T
	Total pre	evious report	and a second second Second second second Second second		,
	Total to	date	an ganga sa mengerang sa		
he above rec	ord is complete and correct. Work co	mpleted and acce	pted for pay	yment.	
	$\mathcal{A}$	NAL 1.	2.		÷
	D . 1	AM S	-		
By <u> </u>	FOR CONTRACTOR By	CLIENT OR AUTHORIZ	D REPRESENT/	ATIVE	
	IITE OFFICE COPY—CANARY JOB	<u></u>		13 PY-GOLDENRO	

. 1. .,



Ticket #: 880105 Cost Code:

Date:

51915

10/22/10

Work Performed For: El Dorado County

Description of Work:

Labor Type	LABOR	HOURS Total OT		RATE Reg. OT		TENDED MOUNTS
FM	Ed Wilkerson	2 1	\$	84.58	\$	169.16
			\$	32.00	\$	
GC	Kevin Wickiser	2 /	\$	84,34	\$	168.68
<u> </u>			\$	32,00	\$	
LB	Vanessa Echeverria	·	\$	59.33	\$	
В			\$	32.00	<b>\$</b> *	
LD .	Mark Blanchard		\$	59,33	\$	-
OP			\$	32.00	\$	-
26	Dana Carr	4 /	\$	78.95	\$	315.80
DP	Jerry Wilson		\$	32.00	\$	-
	Jeny Wilson	4 /	\$	83.26	\$	333.04
OP	Mark Grech		\$	32.00	\$	<u> </u>
J			\$	81.04	\$	
AOP	Dale Shankles		\$	32.00	\$	
	Dale Offairkies		\$	63.56	\$	
eamster	Tom Azevedo	5.7	\$	32.00	\$	
ouniotor	100071224230		\$	60.25	\$	301.25
Mechanic	Tony Green	an an an an an an an an Angelan. An an an an an an an an an Angelan	\$	32,00	\$	
			\$ \$	82.25	\$ \$	
qc	RayOrtiz	····· 8····	_ə \$	81.04	্য \$	648.32
 ·			<del>ب</del> \$	32.00	44.0	_040,32
)P	Rich McClellan,	4 /	\$	• 81.04	\$ \$	324.16
			\$	32.00	.э. 5	524,10
)P	James Jöhnson	2 🗸	\$	81.04	\$	162.08
			¢	32.00	्मः \$	102.00
UOM	MATERIALS & OTHER ITEMS	Qty	Un	it Cost		Total
					<b>\$</b> 0	
	generalise and a second se The second sec		22 - 11 - 24 - 1 24 - 11 - 24 - 11 - 24 - 11 - 24 - 11 - 24 - 11 - 24 - 12 - 24 - 12 - 24 - 12 - 24 - 12 - 24 - 12 - 24 - 12 - 24		\$	<u></u>
			<u></u>	<u> </u>	\$	
					\$	
				**************************************	\$	
					\$	
		and an			S	جها میں دی
NATES						na na sana na sa
		TOTAL TH	TC DE	DODT	·	2,422,49
NOTES:	<u>in the second second</u>		19 KC	PURI	\$	2,422,49



Cost Code: 880101 Date: 10/22/10

51915

#### Work Performed For: El Dorado County

Description of Work:

CAT       345B Excavator w/ Thumb Attachment         VOLVO       A40 Rock Truck         CAT       740 Rock Truck         CAT       740 Rock Truck         CAT       740 Rock Truck         CAT       637 E Scraper         CAT       637 E Scraper         CAT       637 E Scraper         CAT       825 G Compacter         CAT       10 G Back Hoe         4000 Gallon Water Truck         CAT       14G Blade         Hertz       54" Sheeps foot compactor         UOM       MATERIALS & OTHER ITEMS	4 7	\$ 182.69 \$ 1,029.25 \$ 146.15 \$ 839.50 \$ 159.63 \$ 339.50 \$ 162.14 \$ 839.50 \$ 162.14 \$ 839.50 \$ 381.93 \$ 381.93 \$ 381.93 \$ 188.67 \$ 839.50 \$ 191.00 \$ 86.05 \$ 86.05 \$ 60.33	\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$
CAT 740 Rock Truck CAT 740 Rock Truck CAT 637 E Scraper CAT 637 E Scraper CAT 637 E Scraper CAT 825 G Compacter CAT 825 G Compacter CAT D8 R Dozer CAT 10 G Back Hoe 4000 Gallon Water Truck CAT 14G Blade Hertz 54" Sheeps foot compactor	4	\$ 146.15 \$ 839.50 \$ 159.63 \$ 839.50 \$ 162.14 \$ 839.50 \$ 381.93 \$ 381.93 \$ 381.93 \$ 188.67 \$ 839.50 \$ 191.00 \$ 86.05	\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$
CAT 740 Rock Truck CAT 740 Rock Truck CAT 637 E Scraper CAT 637 E Scraper CAT 637 E Scraper CAT 825 G Compacter CAT 825 G Compacter CAT D8 R Dozer CAT D8 R Dozer CAT 310 G Back Hoe 4000 Gallon Water Truck CAT 14G Blade Hertz 54" Sheeps foot compactor	4	\$ 839.50  \$ 159.63  \$ 839.50  \$ 162.14  \$ 839.50  \$ 381.93  \$ 381.93  \$ 188.67  \$ 839.50  \$ 191.00  \$ 86.05	\$ - - - - - - - - - - - - -
CAT 740 Rock Truck CAT 637 E Scraper CAT 637 E Scraper CAT 825 G Compacter CAT 825 G Compacter CAT D8 R Dozer CAT 10 G Back Hoe 4000 Gallon Water Truck CAT 14G Blade Hertz 54" Sheeps foot compactor	4	\$ 159.63 \$ 839.50 \$ 162.14 \$ 839.50 \$ 381.93 \$ 381.93 \$ 381.93 \$ 188.67 \$ 839.50 \$ 191.00 \$ 86.05	\$ \$ \$ 1,527.72 \$ 1,527.72 \$ \$ 764.00 \$ -
CAT740 Rock TruckCAT637 E ScraperCAT637 E ScraperCAT637 E ScraperCAT825 G'CompacterCAT825 G'CompacterCATD8 R DozerCAT310 G Back Hoe4000 Gallon Water TruckCAT14G BladeHentz54" Sheeps foot compactor	4	\$ 839.50 \$ 162.14 \$ 839.50 \$ 381.93 \$ 381.93 \$ 188.67 \$ 839.50 \$ 191.00 \$ 86.05	\$ \$ 1,527.72 \$ 1,527.72 \$ \$ 764.00 \$ -
CAT       637 E Scraper         CAT       637 E Scraper         CAT       825 G'Compacter         CAT       825 G'Compacter         CAT       D8 R Dozer         CAT       310 G Back Hoe         4000 Gallon Water Truck         CAT       14G Blade         Hertz       54" Sheeps foot compactor	4	\$ 162.14 \$ 839.50 \$ 381.93 \$ 381.93 \$ 188.67 \$ 839.50 \$ 191.00 \$ 86.05	\$ 1,527.72 \$ 1,527.72 \$ \$ \$ 764.00 \$ -
CAT       637 E Scraper         CAT       637 E Scraper         CAT       637 E Scraper         CAT       825 G Compacter         CAT       825 G Compacter         CAT       D8 R Dozer         CAT       310 G Back Hoe         4000 Gallon Water Truck         CAT       14G Blade         Hertz       54" Sheeps foot compactor	4	\$ 839:50 381:93 381:93 \$ 381.9	\$ 1,527.72 \$ 1,527.72 \$ \$ \$ 764.00 \$ -
CAT 637 E Scraper CAT 825 G'Compacter CAT D8 R Dozer CAT 310 G Back Hoe 4000 Gallon Water Truck CAT 14G Blade Hertz 54" Sheeps foot compactor	4	\$ 381.93 \$ 381.93 \$ 188.67 \$ 839.50 \$ 191.00 \$ 86.05	\$ 1,527.72 \$ 1,527.72 \$ \$ \$ 764.00 \$ -
CAT 637 E Scraper CAT 825 G'Compacter CAT D8 R Dozer CAT 310 G Back Hoe 4000 Gallon Water Truck CAT 14G Blade Hertz 54" Sheeps foot compactor	4	\$ 381.93 \$ 188.67 \$ 839.50 \$ 191.00 \$ 86.05	\$ 1,527.72 \$ \$ \$ 764.00 \$ -
CAT 825 G'Compacter CAT D8 R Dozer CAT 310 G Back Hoe 4000 Gallon Water Truck CAT 14G Blade Hertz 54" Sheeps foot compactor		\$ 188.67 \$ 839.50 \$ 191.00 \$ 86.05	\$ \$ 764.00 \$ 
CAT 825 G'Compacter CAT D8 R Dozer CAT 310 G Back Hoe 4000 Gallon Water Truck CAT 14G Blade Hertz 54" Sheeps foot compactor		\$ 188.67 \$ 839.50 \$ 191.00 \$ 86.05	\$ \$ 764.00 \$ 
CAT D8 R Dozer CAT 310 G Back Hoe 4000 Gallon Water Truck CAT 14G Blade Hertz 54" Sheeps foot compactor		\$ 839.50 \$ 191.00 \$ 86.05	\$ <u>764.00</u> \$
CAT 310 G Back Hoe 4000 Gallon Water Truck CAT 14G Blade Hertz 54" Sheeps foot compactor		\$ 191.00 \$ 86.05	\$ <u>764.00</u> \$
CAT 310 G Back Hoe 4000 Gallon Water Truck CAT 14G Blade Hertz 54" Sheeps foot compactor		\$ 86.05	\$
4000 Gallon Water Truck CAT 14G Blade Hertz 54" Sheeps foot compactor	5 /		
4000 Gallon Water Truck CAT 14G Blade Hertz 54" Sheeps foot compactor	5 7		
CAT 14G Blade Hertz 54 <sup>u</sup> Sheeps foot compactor	5.7	\$ 60.33	\$ 301.65
Hertz 54" Sheeps foot compactor	· •		
	2 🗸	\$ 190.00	\$ 380.00
	8 /	\$ 53,24	\$ 425,92
UOM MATERIALS & OTHER ITEMS		ф. <u>20,2,</u> 1	<u>Ψ</u> . <del>T</del> 23,52
UOM MATERIALS & OTHER ITEMS			
	Qty	Unit Cost	Total
			-
			\$
			\$
			\$
			\$
			\$
NOTES:			
	E CONTAL TL	IIS REPORT	\$ 4,927.01

#### SUKUT CONSTRUCTION, INC. GENERAL ENGINEERING CONTRACTORS 4010 Chandler Ave., Santa Ana, CA 92704 (714) 540-5351

### 51915

**AILY RECORD OF EXTRA WORK** 

Work performed for Canity of El Norado

Description of work Placement and compaction of material

over the scuter line.

Job No. <u>15 10 14</u> FWO No. <u>8801-05</u> Date <u>10/22 /10</u>

er en		Report No	·	or
		HOURS	BATE	in the second second
EQUIP. NO.		TOTAL	REG	EXTENDED
LABOR-TYPE	LABOR OR EQUIPMENT (Note all accessories)	0.T.	0.T.	AMOUNTS
Foreman	Ed Wilkeron	2		
Gred J	Kevin Wickiser	2		
	Dava Cart	4		
		4		
- Op	Jerry Wilson	4		
O^	Rich McClellan	8		
op	Ray Octiz	2		
- A	James Johnson	4		
80-13	<u> Ner</u>	8		
37-04 37-07	(2) 637 5	2		
Euo	140H Blade	5		
<u> </u>	Tom A	8		
Hertz Tom's HzO	4000 gallon H20 Truck	5		
10115 120	4000 gallon AZO ITUEN		AL °	
	MATERIALS & OTHER ITEMS	NO. UNITS		
1) 1-auled and	placed 35 loads over the sever live @ 16 yds = 50	y di		
<u>Cper</u> load	Court)			
	ter and the second s			
Comment:	Total this n	eport	L	
	Total previo	ous report	2	19 - 17 10 K. 19 - 18 - 19 - 19 - 19 - 19 - 19 - 19 -
	Total to dat			
ne above rec	ord is complete and correct. Work comp	leted and accer	oted for pay	/ment.

CLIENT OR AUTHORIZED REPRESENTATIVE

CUSTOMER-WHITE OFFICE COPY-CANARY

FOR CONTRACTOR

HO HOWIZED REPRESENTATIVE

10-12900PT6-GOLDENROD



Ticket #: 51918 Cost Code: 880105

Date: 10/22/10

Work Performed For:

El Dorado County

Description of Work:

Labor Type	LABOR	HOURS Total OT	RATE Reg. OT	EXTENDED AMOUNTS
FM	Ed Wilkerson	4 <	\$ 84.58	\$ 338.32
~~			\$ 32.00	\$
GC	Kevin Wickiser	5 -	\$ 84:34	\$ 421.70
B			\$ 32.00	\$ -
LB.	Vanessa Echeverria	·	\$ 59,33	\$
			\$ 32.00	\$
LB	Mark Blanchard		\$ 59.33	\$
00			\$ 32.00	\$ -
OP	Dana Carr	6 -	\$ 78.95	\$ 473.70
			\$ 32.00	\$
OP	Jerry Wilson	5	\$ 83.26	\$ 416.30
			\$ 32.00	\$ -
OP.	Mark Grech		\$ 81.04	\$ -
<u></u>			\$ 32.00	\$ -
AOP	Dale Shankles		\$ 63.56	\$
an a		Sector And a sector of the	\$ 32.00	Star . Marganet .
Teamster	Tom Azevedo	4 /	\$ 60.25	\$ 241.00
·	n an		\$ 32.00	\$
Mechanic	Tony Green		\$ 82.25	\$
			\$ 32.00	\$
ЭР	Ray Ortiz	6 /	\$ 81.04	\$ 486.24
			\$ 32.00	\$
<b>DP</b>	Rich McClellan °	5	\$ 81.04	\$ 405.20
		N. 14	\$ 32.00	\$ -
OP	James Johnson		\$ 81.04	\$
			\$ 32.00	\$ -
UOM	MATERIALS & OTHER ITEMS	Qty	Unit Cost	Total
				\$ -
				\$
				\$
<u> </u>				\$ -
			ļ.	\$ -
		1		\$
	nen en		- M-	
NOTES:			ne de la companya de	and a second
MULES		TOTAL THI	SREPORT	\$ 2,782.46
· ·				



Ticket # Cost Code: 880101 Date: 10/27/10

51918

Work Performed For:

El Dorado County

Description of Work:

EQUIPMEN		HOURS Total OT	RATE Reg. OT	EXTENDED AMOUNTS
CAT	345B Excavator w/ Thumb Attachment		\$ 182.69	\$
2011/0	Andreas and a second	2 1 A	\$ 1,029.25	\$
VOLVQ	A40 Rock Truck		\$ 146.15	<b>\$</b> *
		a sur sur su	\$ 839.50	<b>\$</b>
CAT	740 Rock Truck		\$ 159.63	\$
			\$ 839.50	- <b>-</b>
CAT	740 Rock Truck		\$ 162.14	\$ -
			\$ 839.50	\$
CAT	637 E Scraper	4 /	\$ 381.93	\$ 1,527.72
САТ	637 E Scraper	4 -	\$ 381.93	\$ 1,527.72
CAT	825 G Compacter	F	\$ 188,67	\$
			\$ 839:50	\$
CAT	D8 R Dozer	6 -	\$ 191.00	\$ 1,146.00
CAT	310 G Back Hoe	Artista - Constanting - Artista Artista - Artista - Artista - Artista - Artista Artista - Artista - Artista - Artista - Artista	\$ 86.05	
			- 4 OO,OO	<b>\$</b>
	4000 Gallon Water Truck	4 /	<b>\$</b> 60.33	\$ 241.32
CAT	14G Blade		\$ 190.00	\$
lertz	54" Sheeps foot compactor	8 ~	\$ 53.24	\$ 425.92
				<u>1</u>
UOM	MATERIALS & OTHER ITEMS			
UCIM	MATERIALS & UTHER TIEMS	Qty	Unit Cost	Total
		an an an thail an tha an	and a second second second	\$
		·····		*
			····	-
				\$
			NAME OF COMPANY	<u> </u>
		<u>e a presidente de la composition de la compos</u>	<u>an an a</u>	- <del>4</del>
1	and a second second Second second			
NOTES:		TOTAL TH	IS REPORT	\$ 4,868.68

SUKUT CONSTRUCTION, INC. GENERAL ENGINEERING CONTRACTORS 4010 Chandler Ave., Santa Ana, CA 92704 (714) 540-5351

A IN MARCH PROPERTY AND A SAME AND

the same state of the same

## AILY RECORD OF EXTRA WORK

Work performed for	County	of El Docad	<i>o</i>
Description of work	lacement	- of materia	d over the
sewer line			

TO STATE WHEN AND STATE

2. SERVER BRAND

Job No.	151014	
FWO No.	8801-05	
	10/27/10	
Report No	l of	1.

51918

EQUIP. NO.			IOURS	RATE	
LABOR-TYPE	LABOR OR EQUIPMENT (Note all accessor	( <b>A</b> e)	TOTAL	REG	EXTENDE AMOUNT
	EADON ON EWOIT MENT, (NOTE an accessor	ies)	<u>о.т.</u> 4	0.т.	AMOUNT
Foremans	Ed Willerson		<u>.</u>		
[ OI CIMAN)	ED WIILERSON		5		Î F
and I	Kevin Wickiser.	· · · · · · · · · · · · · · · · · · ·			the second se
<u>nca v</u>	Nevin Wichise	· · · · · · · · · · · · · · · · · · ·	<u> </u>	and the second s	
~	Dawn Cart	and the second	_6		
<u> </u>	Call Stranger		.5		
00	Jerry Wilson		<u></u>		
<u> </u>	Jerry wilson	<u></u>	5	<u> </u>	
00	Rich McClellan				
$\omega_{\rm p}$	INCO MICCICIAN		6		
00	Ray Ortiz		<u></u>		
<u>- up</u>	-Nay OFTIC		4		
Ón	Tom A.		<u> </u>		· · · · · · · · · · · · · · · · · · ·
$\sim \rho$	A set and the provide statement of the set of the se	<u></u>	6		
80-13	1 8R	^	<u> </u>	<u> </u>	
<u> </u>			4	<u> </u>	<u>k na se </u>
37-67	637	(			<u> </u>
<u> </u>	<del>te da Tel Malancia de la contra d</del>		2	<u> </u>	
37-09	637		- E	and the second second	
		in the second	8		
Hertz	54" Sheeps foot		<u> </u>		
			4		
Tom's H20	4000 gallow H, O Truck				-
			1. 3 P. 1		
· · · · · · · · · · · · · · · · · · ·		• i c		ù la	
an te a version		the second s			
		1			
	MATERIALS & OTHER ITEMS		NO. UNITS	UNIT COST	
		1.1.1		C031	e en
Haulod 1	18 Loads @ 16 ydy = 1888 yds (per 6	ad cant	<u></u>		
			1. A.		
		<u> </u>			
		otal this report			
		otal this report			
	1	otal this report otal previous rep			
Comment:		otal this report otal previous rep otal to date	port		
Comment:		otal this report otal previous rep	port	oted for pay	yment.
Comment:		otal this report otal previous rep otal to date	port	sted for pay	yment.
Comment:		otal this report otal previous rep otal to date	port	sted for pay	yment.
Comment:	ord is complete and correct.	otal this report otal previous rep otal to date Vork completed a	nd facces	IFOR ,	NS
Comment:	ord is complete and correct.	otal this report otal previous rep otal to date Vork completed a	nd facces	FOR A	NS



Cost Code; 880105 Date: 10/28/10

51921

Work Performed For:

or: <u>El Dorado County</u>

Description of Work:

Labor Type	LABOR	HOURS Total OT	RATE Reg. OT	EXTENDED AMOUNTS
FM	Ed Wilkerson	2 /	\$ 84,58	\$ 169.16
20			\$ 32.00	\$
GC	Kevin Wickiser		\$ 84.34	\$ <b>\$</b>
8			\$ 32.00	\$
-8	Vanessa Echeverria	*	\$ 59.33	<b>\$</b>
· · · · · · · · · · · · · · · · · · ·			\$ 32.00	-
_ <u>B</u>	Mark Blanchard		\$ 59.33	<b>.</b>
DP.	na da ante ante ante a la companya da c		\$ 32.00	<b>(\$</b>
<del>,</del> ЧС	Dana Carr		\$ 78.95	<b>\$</b>
<u>DP</u>	1. Constraints of the second s Second second s Second second sec second second sec		\$ 32.00	\$
90	Jerry Wilson	- · · · · ·	\$ 83.26	\$
20		et an traine	\$ 32.00	<b>\$</b>
<u> QP</u>	Mark Grech		\$ 81.04	<b>(\$</b>
0.0		and the second second	\$ 32.00	\$
10P	Dale Shankles		\$ 63,56	\$
			\$ 32.00	\$
'eamster	Tom Azevedo		\$ 60.25	<b>\$</b>
		of the	\$ 32.00	\$
lechanic	Tony Green		\$ 82.25	-
<u>, i, i,</u>		·	\$ 32.00	\$
)P	Ray Ortiz	10,5 -	\$ 81.04	\$ 850.92
		2.5 🗸	\$ 32.00	\$ 80.00
) <b>P</b>	Rich McClellan	<u>}</u>	\$ 81.04	<b>.</b>
त्र	and the second secon	e frager	\$ 32.00	\$
JP -	James Johnson		\$ 81.04	\$
LION			\$ 32.00	
UOM	MATERIALS & OTHER ITEMS	Qty	Unit Cost	Total
		2	-	\$ -
		<u> </u>		\$
	<u>n an an</u>			\$
····	le and a second sec I second secon	<u></u>		5 -
				<b>\$</b>
			<u> </u>	\$
NOTES:		TOTAL TH	IS REPORT	\$ 1,100.08
- N		A MARTIN AND A MARTIN	• • • • •	



Ticket #: 51921 Cost Code: 880101

Date: 10/28/10

Work Performed For:

 $\left( \cdot \right)$ 

El Dorado County

Description of Work:

EQUIPMEN		HOURS Total OT	RATE Reg. OT	EXTENDED AMOUNTS
CAT	345B Excavator w/ Thumb Attachment	<u>e</u> tas Anto ta post	\$ 182.69	\$
VOLVO			\$ 1,029.25	\$
VOLVO	A40 Rock Truck		\$ 146.15	\$ <sup>1</sup>
CAT	740 Date Transferred		\$ 839.50	<b>\$</b>
CAI	740 Rock Truck		\$ 159,63	<b>\$</b>
CAT	770 5.1.7		\$ 839;50	\$
GAT	740 Rock Truck		\$ 162,14	\$
CAT	202 E Contraction and a second s		\$ 839.50	\$ -
UA I	637 E Scraper		\$ 381,93	-
CAT	637 E Scraper		\$ 381.93	.∳
CAT	825 G Compacter		\$ 188.67	\$
en ann an stàitean an stàit		.	\$ 839.50	<b>\$</b>
CAT	D8 R Dozer	-	\$ 191.00	\$
			4 191,00	- <b>49</b> 1
CAT	310 G Back Hoe	·····	\$ 86.05	
• • • • • • • • • • • • • • • • • • •	4000 Gallon Water Truck	i I I I I I I I I I I I I I I I I I I I	\$ 60.33	<b>\$</b>
CAT	14G Blade		\$ 190:00	<b>\$</b>
lertź	54" Sheeps foot compactor	10.5 7	\$ 53.24	\$ 559.02
		10.0	φ	φ <u>335.02</u>
		2 · · · · · · · · · · · · · · · · · · ·		
UOM	MATERIALS & OTHER ITEMS	Qty	Unit Cost	Total
			en la gran de la composition Notae de la composition de la composition	\$
				\$
				\$ -
				\$ -
				\$ -
		and an annual second	en en el este en el e En el en e	\$-
	n en			
NOTES				antan kati <mark>na kati kati kati kati kati kati kati kat</mark>
NOTES:		TOTAL TH	IS REPORT	\$ 559.02
				la de la companya de
		1		

SUKUT CONSTRUCTION, INC.	
GENERAL ENGINEERING CONTRACTORS	
4010 Chandler Ave., Santa Ana, CA 92704	1
(714) 540-5251	

(714) 540-5351

## AILY RECORD OF EXTRA WORK

Work performed for County of El Dorado

A STATE STATE STATES AND A STATES

Description of work <u>Compaction</u> of material over the <u>Server</u> line.

FWO No. <u>880/-0.5</u> Date <u>/0/28 /10</u>	Jöb No.	151014	
Date /0/28 /10	FWO No	8801-05	
	Date	10/28/10	

51921

EQUIP. NO.			HOURS	RATE	EVTENDE
LABOR-TYPE	LABOR OR EQUIPMENT (Note all acces	ssories)	O.T.	REG O.T.	
			10.5		
<u>()</u>	Ray Ortiz			1	2 4 1
× P			2.5		<u>.</u>
Foreman	Ed Wilkerson		Z	i	<u></u>
1.0.211.010	CET DO INCESSIO	<u>eren e suiter a re</u>			· · · · · · · · · · · · · · · · · · ·
Herty	LEAN PROVIDENT	s <sup>1</sup>	10.5		
<u></u>	54' sheeps foot compactor				
			<u> </u>		
			na i provinsi propi		
· · · · · · · · · · · · · · · · · · ·					
		the state of the second	an a		n y ser an
				<u>C. (a. 2017</u> )	
<u> </u>	an a	terre and the second	المراجعة ال المراجعة المراجعة الم		
			a la come a completa	1. Ann	
<u></u>					
Y					
)			here and the second		
	1999 - 1999 - 1999 - 1999 - 1999 - 1999 - 1999 - 1999 - 1999 - 1999 - 1999 - 1999 - 1999 - 1999 - 1999 - 1999 -		1		
	n an				1000 - 1000 - 1000 - 1000 - 1000 - 1000 - 1000 - 1000 - 1000 - 1000 - 1000 - 1000 - 1000 - 1000 - 1000 - 1000 - 
				6- 1	<u></u>
and and a second se				terre and a second s	
			<u> </u>		<u>in a superior de la competencia de</u> La competencia de la c
			en e	na na katalan sa katal Katalan sa katalan sa k	land a state of the second
			<u> </u>		and Anna Anna Anna Anna Anna Anna Anna A
9 ù		a ser a la companya da ser	en de la composition de la composition A composition de la co		
	•	<b>9</b>	SUB TOTA	L	
					a nama a sama sa
	MATERIAL C & ATUCA TTANA		NO.	UNIT	
	MATERIALS & OTHER ITEMS		UNITS	COST	<u> </u>
an a					, i I
				ана — 19 Каландария — 19 — 19 — 19 — 19 — 19 — 19 — 19 — 1	
en e		an en la companya de	a da aga à ma	5	a set in the set
	and a second			an a	
				na an a	<u></u>
		ter and the second s	1. 		
Comment:		Total this repor	t, s		
an a		Total previous r	eport		
		Total to date		an na sa	<u></u>
he above reco	ord is complete and correct.	Work completed	ond geographic	tod tor more	<u> </u>
/ · · · · · · · · · · · · · · · · · · ·		work completed		ieu ior payt	nent
1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 -		LAAS	1/50		
and show the second					
By El	2711er	/11///10//	27/1		

CUSTOMER-WHITE OFFICE COPY-CANARY

JOB FILE-PINK

10-12900092-GOLDENROD



Cost Code: Date: 11/01/10

880105

51930

#### Work Performed For:

El Dorado County

Description of Work:

Labor Type	LABOR	HOURS Totai OT	RATE Reg. OT	EXTENDED AMOUNTS
FM	Ed Wilkerson	6 J	\$ 84,58	\$ 507.48
		2 🗸	\$ 32.00	\$ 64.00
GC	Kevin Wickiser	12 /	\$ 84.34	\$ 1,012.08
		4 /	\$ 32.00	\$ 128.00
LB	Vanessa Echeverria		\$ 59.33	\$
			\$ 32,00	
LB	Mark Blanchard		\$ 59.33	\$
N. SAMA	and the second secon		\$ 32,00	\$1.50 Contractions
OP	Dana Carr	10.5 🗸	\$ 78,95	\$ 828.98
	and a second	2.5 /	\$ 32:00	\$ 80.00
OP	Jerry Wilson	8.5 /	\$ 83.26	\$ 707.71
	an a	25 /	\$ 32.00	\$ 80.00
OP	Mark Grech	-	\$ 81.04	\$
a and the second	<u>na na sana na s</u>		\$ 32.00	\$
AOP	Dale Shankles	54 T	\$ 63.56	\$
An dian barranta ata			\$ 32.00	\$
Teamster	Tom Azevedo	8.5 -	\$ 60.25	\$ 512.13
		0.5 /	\$ 32.00	\$ 16,00
Mechanic	Tony Green		\$ 82.25	\$ -
			\$ 32.00	<b>. .</b> -
OP	Ray Ortiz	10.5	\$ 81.04	\$ 850.92
	n an	2.5 0	\$ 32.00	\$ 80.00
OP	Rich McClellan	8.5 -	\$ 81.04	\$ 688.84
	n an	2.5 ✓	\$ 32.00	\$ 80.00
OP	James Johnson	and the second	\$ 81.04	\$
	n an		\$ 32.00	\$
UOM	MATERIALS & OTHER ITEMS	Qty	Unit Cost	Total
				\$
				\$ -
		1.1.1.1.1.1.1.1.1.1.1.1.1.1.1.1.1.1.1.		\$ -
an la				\$
	n na shina a shina a shekara ta shekara ka s An an			<b>'\$</b> -
		25.21 -		\$ -
		2011 1911	· · · · · · · · · · · · · · · · · · ·	
			•	
NOTES:		TOTAL TH	IS REPORT	\$ 5,636.13
•				



Ticket #: 51930 Cost Code: 880101

Work Performed For:

El Dorado County

Cost Code: 880101 Date: 11/01/10

**Description of Work:** 

EQUIPMENT		HOURS Total OT		RATE Reg. OT		EXTENDED AMOUNTS
CAT	345B Excavator w/ Thumb Attachment		\$	182.69	\$	-
			\$	1,029.25	\$	•
VOLVO	A40 Rock Truck		\$	146.15	\$	
0.4 <b>7</b>			\$	839.50	\$	-
CAT	740 Rock Truck		\$	159.63	\$	
CAT			\$	839.50	\$	
CAT	740 Rock Truck		\$	162.14	. <b>\$</b>	<b>*</b> *
CAT	007 = 0		\$	839.50	<b>\$</b>	2 m 1
CAT	637 E Scraper	21 🗸	\$	381,93	\$	8,020.53
CAT	637 E Scraper		\$	381.93	\$	
· · · · · · · · · · · · · · · · · · ·	and the second					ing i set an ann an tha an
CAT	825 G Compacter		\$	188.67	\$	
	and the second secon		\$	839.50	\$	
CAT	D8 R Dozer	10.5 /	\$	191.00	<b>!\$</b> ``	2,005.50
CAT			<u> </u>	ده ور ۲۰ میلومکارد د		
GAT .	310 G Back Hoe		\$	86.05	\$	
- <u></u>	4000 Gallon Water Truck	8.5 ✓	\$	60,33	<b>:\$</b>	512.81
CAT	14G Blade		\$	190.00	\$	
lenz °	54" Sheeps foot compactor	。 10.5 イ	\$	53.24	\$	559.02
1999 - 1999 - 1999 - 1999 - 1999 - 1999 - 1999 - 1999 - 1999 - 1999 - 1999 - 1999 - 1999 - 1999 - 1999 - 1999 -				en en en angelen. De la service de la service	a a	
•						
UOM	MATERIALS & OTHER ITEMS	Qty		init Cost	-141 -147 -147 -147	Total
					\$	TOLAI
					\$	
					\$	
					\$	
					\$	
1					\$	
NOTES:	h					
INVIES:		TOTAL TH	IS R	EPORT	\$	11,097.86

SUKUT CONSTRUCTION, INC. GENERAL ENGINEERING CONTRACTORS 4010 Chandler Ave., Santa Ana, CA 92704 (714) 540-5351

51930

## **AILY RECORD OF EXTRA WORK**

Work performed for County of El Norado	Job No. 151014
Description of work Continue Fill over sever line on the	FWO No. 8801-05
North end and fill on slopes as well. Not to the CUT	Date11/110
back needed to remove waste over & next to the sever his	r. Report No of

			HOURS	RATE		
EQUIP. NO. LABOR-TYPE	LABOR OR EQUIPMENT (Note all ac		TOTAL	REG	EXTENDE	D
	LADON ON EQUIFIVIENT (Note all ac	cessories)	О.Т.	О.Т.	AMOUNT	S
E.	1 - I I DOW		6			1
Foreman	Ed Wilkerson		<u>-z</u>		<u> </u>	
1 4 M			12		·	
Gid V	Kevins Wickiser		<u> </u>		<u></u>	
	X a		10.5			-
<u> </u>	Bawa Carr		<u>z.5</u>	<u> </u>		_
			8.5			-
<u> </u>	Jerry 1:1:1sen		2.5	<u> </u>		
	Pit man of a		8.5			
<i>O</i> p	Rich McClellan		<u>Z.5</u>			-
			8.5			
၀	Tom A.	<u>na se se se se se se s</u>	.5			
80.13	DER		10,5			-
						- 2
37-07	637		10.5		<del>i jaan ku k</del>	-
		and a second		· · · · · · · · · · · · · · · · · · ·		
37-10	637		10.5			÷
	<b>4</b> . <b>3</b> . <i>C</i>	a an	15.6		<u>,</u>	+
Op	Ray Ortiz		10.5 Z.5	<u> </u>	an a	-
SP	CAY CELL CARA	an a			n et de la companya d La companya de la comp	+
Hertz	54 inch Compactor		10.5	an a		
	MER COMPACTER	and a second	8.5			+
Tom HO	4000 gallon water Truck			<del></del>		
· · · · · · · · · · · · · · · · · · ·				<u>مىنىي ئىشى بۇرىشى م</u>		+
			SUB TOTA	ь. · · · · · · · · · · · · · · · · · · ·		
	<u> </u>			· <b>k</b>	<u> </u>	
	MATERIALS & OTHER ITEMS		NO.	UNIT	4. 1	
			UNITS	COST	<u></u>	÷ŕ-
		<u> </u>				
					ે મેં અન્ન ગામ્યુટી કે આ ગ	
	an a the second seco	ter neri 17 k. kon en og kanter i sjeri			<u> </u>	-
	مير به السورية <u>المركزة الرواية المركزة المركزة المركزة المركزة المركزة المركزة المركزة المركزة المركزة المركزة</u>				till and the second	
				ar Shina		1
Comment:		Total this repo				-
	,		a			<u>.</u>
in the second		Total previous	report		and the second secon	-
	Charles and the second second second	Total to date				L
The above rec	ord is complete and correct.	Work complet	ed and accept	led for pay	ment.	
		Nn/12	1211	21	A Carlos Carlos	
and the second	>	IN DE	7 1	$\times \mathbb{P}$		
By		By///	111	Y	· · · ·	•:
	FOR CONTRACTOR	CLIEN'	COMAUTHORIZED	DEPRESENTA	TIVE	- '

CUSTOMER-WHITE OFFICE COPY-CANARY JOB FILE-PINK

10-129 COPY- GOLDENROD



Cost Code: 880105

51934

Work Performed For:

or: <u>El Dorado County</u>

Date: 11/02/10

Description of Work:

()

Labor Type	LABOR	HOURS Total OT	RATE Reg. OT	EXTENDED AMOUNTS
FM	Ed Wilkerson			\$
30		5 S	\$ 32.00	\$ -
30	Kevin Wickiser		\$ 84,34	-
B	Vanessa Echeverria		\$ 32.00	\$ -
	valiessa Echeverna		\$ 59.33	\$
В	Mark Blanchard		\$ 32.00	\$
	Mark Dianonalu		\$ 59,33	.\$
OP	Dana Carr	and a second	\$ 32.00	<b>\$</b>
		·	\$ 78.95	<b>\$</b>
OP	Jerry Wilson	and the second	\$ 32,00	\$
			\$ 83.26	
DP	Mark Grech	and the second	\$ 32.00	\$
			\$ 81.04 \$ 32.00	\$
<b>NOP</b>	Dale Shankles			\$
			\$ 63,56 \$ 32.00	
eamster	Tom Azevedo		\$ 60.25	-
			\$ 32,00	<u>\$</u> \$
/lechanic	Tony Green		\$ 82.25	<u>98</u> 3 <b>\$</b> 0-
na Na shina Marana shina	<u>annen eti siran en en</u>		\$ 32.00	·····································
DP	Ray Ortiz	10.5	\$ 81.04	\$ 850.9
	andar Angeler (1997) - Angeler (	2.5	\$ 32.00	\$ 80,0
)P	Rich McClellan			\$ * -
an a	and a second			\$
)P	James Johnson	19 - A. (19 - 19 - 19 - 19 - 19 - 19 - 19 - 19	\$ 81,04	\$
	and a second		\$ 32.00	\$
UOM	MATERIALS & OTHER ITEMS	Qty	Unit Cost	Total
				\$
				\$
a self the second state	na an an ann an Arland an an Arland an A Ar an Arland			\$
	<u>na la serie de la serie de</u> La serie de la s			\$
				\$
		<u> </u>	and the second second	\$ -
122 - 23 C		TOTAL TH		
NOTES:			IC DEBADT I	\$ 930.93



Ticket # 51934 Cost Code: 880101

Work Performed For:

 $\left( \begin{array}{c} \end{array} \right)$ 

or: <u>El Dorado County</u>

Date: 11/02/10

Description of Work:

		HOURS Total OT	RATE Reg, OT	EXTENDED AMOUNTS	
CAT	345B Excavator w/ Thumb Attachment		\$ 182.69	\$ -	
VOLVO		11	\$ 1,029.25	<b>\$</b>	
VOLVU	A40 Rock Truck		\$ 146.15	\$ -	
CAT	740 Rock Truck			\$ -	
u A r	740 KOCK I FUCK	· · · ·	\$ 159.63	<b>*</b> \$	
CAT	740 Rock Truck	:		.\$ -	
UAT	740 ROCK THUCK		\$ 162.14	\$ -	
CAT	637 E Scraper		\$ 839.50	<b>\$</b> -	
VA į	oor E Scraper		\$ 381.93	\$	
CAT	637 E Scraper	<u></u>			
UF11	007 E Ocraper		\$ 381.93	Second and the second of	
CAT	825 G Compacter		an a		
	020.0 Compacter	'	\$ 188.67	<b>\$</b>	
CAT	D8 R Dozer		\$ 839.50	\$	
	DOTEDZE		\$ 191.00	<b>\$</b>	
CAT	310 G Back Hoe		A 05 65		
		· ·	\$ 86.05	\$	
	4000 Gallon Water Truck		¢ 60.00	4	
1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 -		· · · · · · · · · · · · · · · · · · ·	\$ 60.33	\$ -	
CAT	14G Blade		\$ 190.00	<b>\$</b>	
en el compositor el compos			\$ 190.00	<b>}</b>	
lertz	54" Sheeps foot compactor	10.5 -	\$ 53.24	\$ 559.0	
			9 00.21	ιφ <u>335.0</u> 1	
···· · · · · · ·					
· · · · · · · ·					
UOM	MATERIALS & OTHER ITEMS	Qty	Unit Cost	Total	
and a second				\$	
				\$	
				\$ -	
· · · · · · · · · · · · · · · · · · ·				\$ -	
		58 26		\$	
		- An - 1 - 1		\$-	
NOTES				i i i i i i i i i i i i i i i i i i i	
NOTES:		TOTAL TH	IS REPORT	\$ 559.02	

SUKUT CONSTRUCTION, INC. GENERAL ENGINEERING CONTRACTORS 4010 Chandler Ave., Santa Ana, CA 92704

(714) 540-5351

## **CAILY RECORD OF EXTRA WORK**

el ma henri antente

Bν

CUSTOMER-WHITE

Work performed for County of FI Dorado	Job No. 151014
Description of work Compaction of Fill over the sever	FWO NO
1. Contraction of the second se	Date <i>II <u> </u> z <u> </u>10</i>
	Report No/ of/

LABOR TYPE LABOR OR EQUIPMENT (Note all accessories)       Or     ID-5       Or     ID-5       Z:S     ID-5		ENDE
Op     Roy Octiz     12.5       Ecco     54 " sheepsfoot collet     10.5         SUB TOTAL		
Op     Ray Ortiz     2.5       Ecco     54" sheepsfoot collet     10.5		
SUBŤOTAL		
SUB <sup>*</sup> TOTAL		
SUBŤOTAL		
SUB <sup>*</sup> TOTAL		
	, , , , , , , , , , , , , , , , , , ,	<u></u>
		<u></u>
	· · · · · · · · · · · · · · · · · · ·	
	in the second	<u></u>
	?	
NO. U		· · · · ·
na na shekara na shekara ka		11
MATERIALS & OTHER ITEMS	INIT OST	
		<u></u>
		*
Comment: Total this report		· ·
Total previous report	A set of the set of th	<u></u>
i otai previous report		· · · · · ·
Total to date		· · · · ·

FOR CONTRACTOR OFFICE COPY-CANARY

JOB FILE-PINK

CLIENT OR AUTHORIZED REPRESENTATIVE

10-1291 B 28 GOLDENROD

A CONTRACTOR OF A CONTRACTOR

51934



Cost Code: 880105 Date: 11/06/10

51945

Work Performed For:

med For: <u>El Dorado County</u>

Description of Work:

Labor Type	LABOR	HOURS Total OT	RATE Reg. OT		TENDED MOUNTS
FM	Ed Wilkerson	4 /	\$ 84.58	\$	338.32
		4 /	\$ 32.00	\$	128.00
GC	Kevin Wickiser		\$ 84.34	\$	
5			\$ 32:00	1.1.2.1	
B	Vanessa Echeverria		\$ 59.33	\$	
			\$ 32.00	\$	
LB	Mark Blanchard		\$ 59,33	i\$	· · · · · · · · · · · · · · · · · · ·
OP	(a) Martin and a state of the state of th	and the second	\$ 32,00	\$	
JF	Dana Carr	4 /	\$ 78.95	\$	315.80
00	n an an Araban ann an Araban ann an Araban ann an Araban an Araban ann an Araban an Araban ann an Araban an Ara An Araban an	4	\$ 32,00	\$	128:00
OP	Jerry Wilson	4	\$ 83,26	\$	333.04
~~		4	\$ 32.00	\$	128.00
ϘP	Mark Grech		\$ 81.04	\$	
			\$ 32.00	\$	na t⊈ara Listi
AOP	Dale Shankles		\$ 63.56	\$	
			\$ 32.00	\$	
Feamster	Tom Azevedo	4 /	\$ 60.25	\$	241,00
		4/	\$ 32,00	\$	128.00
Mechanic	Tony Green		\$ 82.25	\$	1997 - 19 <u>1</u> 7
30		1	\$ 32.00	\$	
0P	Ray Ortiz	4	\$ 81.04	\$.	324.16
)P		.4./	\$ 32.00	\$	128,00
UP .	Rich McClellan	4 /	\$ \$81.04	\$	324.16
90 90	na 18 mar 18, 18 mar 18. Bur 19 mar 18 da anna 18 anna 18 mar 18 anna 18 anna 18 anna 18 anna 18 anna 18 anna 1 Bhannan 18 mar 18 anna 18 anna 18 mar 18 anna 1	4/	\$ 32.00	\$	128.00
9P	James Johnson		\$ 81.04	\$	
UOM			\$ 32.00	\$	-
UOIM.	MATERIALS & OTHER ITEMS	Qty.	Unit Cost	and the second se	Total
				\$	
· · · · · · · · · · · · · · · · · · ·	<u>n na serie de la company de</u>			\$	
		-		\$	-
	te en	÷[		\$	
				\$	-
		-		\$	
			· · · · · · · · · · · · · · · · · · ·	[	
NOTES:		TOTAL TH	IS REPORT		D. 674.3.4
		ILI VIAL IN	13 KEPVKI	\$	2,644.48



El Dorado County

Cost Code: 880101 Date: 11/06/10

51945

Work Performed For: Description of Work:

EQUIPMENT		HOURS Total OT	RATE Reg. OT	EXTENDED AMOUNTS
CAT	345B Excavator w/ Thumb Attachment	1	\$ 182.69	\$
VOLVO			\$ 1,029,25	\$ -
VULVU	A40 Rock Truck		\$ 146,15	\$ -
CAT	740 Rock Truck		\$ 839.50	\$ -
UNI	740 ROCK I RUCK		\$ 159.63	\$ -
CAT	740 Rock Truck		\$ 839.50	<b>\$</b> /
UAI	74U ROCK TRUCK		\$ 162.14	\$
CAT	637 E Scraper	1. S	\$ 839.50	\$
	OS/ E Scraper	12_1	\$ 381,93	\$ 4,583.16
CAT	637 E Scraper	and Anna an Anna an Anna Anna Anna Anna	\$ 381.93	\$
CAT	825 G Compacter		\$ 188,67	\$
			\$ 839.50	• <b>\$</b> }
САТ	D8 R Dozer	4 1	\$ 191.00	\$ 764.00
DAT	310 G Back Hoe		*	
	an an an an Anna an Ann <u>An an</u> an Anna a		\$ 86.05	\$
	4000 Gallon Water Truck	4	\$ 60,33	\$ 241.32
DAT	14G Blade		\$ 190.00	\$ -
lertz.	54" Sheeps foot compactor		\$ ° 53.24	\$ -
CAT	D6R	4	\$ 144.18	\$ 576,72
UOM	MATERIALS & OTHER ITEMS	Qty	Unit Cost	Total
		en andre som en andr En andre som en andre	an a she that a she and a she a	\$
				\$
				\$
<u></u>				\$
· · · · ·				\$
	u			<b>\$</b>
NOTES:		TOTAL TU	COFDODT	
		TOTAL TH	\$ 6,165.20	
			х.	·

SUKUT CONSTRUCTION, INC. GENERAL ENGINEERING CONTRACTORS 4010 Chandler Ave., Santa Ana, CA 92704

(714) 540-5351

. .

### **AILY RECORD OF EXTRA WORK**

Work performed for <u>County of El horado</u> Description of work <u>Fill of was to excavation</u> outside

of

Linit +

Job No.	151014
FWO No	8801-
Date	11/10/10
Penart No	

51945

EQUIP. NO.			HOURS	RATE		<u> </u>
LABOR-TYPE	LABOR OR EQUIPMENT (Note all acc	assorias)	TOTAL	REG		
		(essories)	0.T	0.т.	AMOUNT	<u>s.</u>
Foreman	FOR MIN		4	a de la composición de		
TOIEMAN	Ed Wilkerson		4			<u> </u>
a	/N		4	· · · · · · · · · · · · · · · · · · ·		
Q	Dana Carr	in an and an and a second second	4			
		· · · · · · · · · · · · · · · · · · ·	4			
<i>D</i> p	Jenny Wilson	<u> </u>	4		5. 195. <del>1</del> 5.	
<i>,</i>	[1] A set for the spectrum stars of spectrum density of the set		4			
<u> </u>	Rich MICClellin		4	an the second		
		n y name di sta qa nome. An	4			
Do	Ray Detiz	nta da serie de la composición de la c Na composición de la c	4			1.1
1			4			
OA	Tom A		4	τ.		
			4		<u> </u>	-
80.B	DBR			[	<u> </u>	
· ·····			Δ			5
Ecco	NOR			arthe days in the second se	1. <u>1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1</u>	<u></u>
<u>بې بې يې يې پې پې</u>		e en la constanta estas	4		<u>y</u>	
Train IL A	4000 gallow weiter Truck				a di serie de la companya de la comp	125
<u>1010 3 112 10</u>	- AND GALLON LIGHT I TVIC		4			
27-11-1	1 637					1 .
31 01	Contraction of the second s			aton itali		
37-09			4		<u></u>	<u>.</u>
3.07	637		na an a	n an an an an an an		تيد الج
			4			
37-10	V 631					
					,	
	8. 			۱L .	n an an Araba Araba an Araba	
		and a state of the second state				
			NO.	UNIT		
	MATERIALS & OTHER ITEMS	· · · · · · · · · · · · · · · · · · ·	UNITS	COST		
						· [
				States and		
			1			
				1		<u></u>
<u> </u>						1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 -
						с. с. с. с. с.
**************************************	<u> The second s</u>		- <u> </u>	1 <u></u>		1
Comment:		Total this rep	ort	ter an		
		Total previou	s report			
		Total to date				
he above reco	ord is complete and correct.		en e	seed some		<u>.</u>
	wa is complete and correct.	Work comple	led and accel	pied for pay	ment.	
			1/1	A second	•	
		1 Alt	1/4	and the second s	and the second	
By	- Color	By MC	4	)	· · · · · · · · · · · · · · · · · · ·	,
	FOR CONTRACTOR	CLIEN	T OR AVIHORIZE	D REPRESENTA	TIVE	С. 2011 г.

CUSTOMER-WHITE OFFICE COPY-CANARY

10-12 GPBY31 GOLDENROD

JOB FILE-PINK